Base Line Ite	em Detail				Joseph M. Sanz	ari, Inc.	Gardner M. Bis	shop, Inc.	IEW Constructi	on Group Inc.	Agate Construct	ion Co.,	A. P. Construc	tion, Inc.	D'annunzio & S	Sons, Inc.
Item No.	Unit Code	Qty	UOM	Description	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total
1	1D01LAY	1	L.S.	Construction Layout	\$18,500.00	\$18,500.00	\$10,000.00	\$10,000.00	\$39,072.02	\$39,072.02	\$50,000.00	\$50,000.00	\$140,000.00	\$140,000.00	\$119,051.00	\$119,051.00
2	1D10MOB	1	L.S.	Mobilization	\$500,000.00	\$500,000.00	\$10,000.00	\$10,000.00	\$430,000.00	\$430,000.00	\$500,000.00	\$500,000.00	\$500,000.00	\$500,000.00	\$495,000.00	\$495,000.00
3	1G01SCH	1	L.S.	Progress Schedule	\$6,300.00	\$6,300.00	\$1,000.00	\$1,000.00	\$1.00	\$1.00	\$1.00	\$1.00	\$15,000.00	\$15,000.00	\$20,000.00	\$20,000.00
4	1HFP010	1	L.S.	Fuel Price Adjustment (This is a NO BID, Lump Sum item for this contract. The Lump Sum price is \$10,000. Enter a Unit Price of \$10,000 as your bid for this item.)	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
5	2B02REX	615	C.Y.	Roadway Excavation, Earth	\$47.00	\$28,905.00	\$100.00	\$61,500.00	\$56.38	\$34,673.70	\$40.00	\$24,600.00	\$18.00	\$11,070.00	\$100.00	\$61,500.00
6	2C01EMB	75	C.Y.	Embankment , Common	\$13.00	\$975.00	\$120.00	\$9,000.00	\$59.31	\$4,448.25	\$80.00	\$6,000.00	\$18.00	\$1,350.00	\$140.00	\$10,500.00
7	2C14EMB	110	S.Y.	Geotextile Filter Fabric	\$6.50	\$715.00	\$11.00	\$1,210.00	\$13.90	\$1,529.00	\$10.00	\$1,100.00	\$2.00	\$220.00	\$3.00	\$330.00
8	2G00002	320	Ton	Riprap Stone Slope Protection, 12" Thick, (D50=6")	\$54.50	\$17,440.00	\$150.00	\$48,000.00	\$90.92	\$29,094.40	\$90.00	\$28,800.00	\$88.00	\$28,160.00	\$180.00	\$57,600.00
9	2G03SEC	25	Ton	Stone, Grade C	\$103.00	\$2,575.00	\$200.00	\$5,000.00	\$236.88	\$5,922.00	\$60.00	\$1,500.00	\$42.00	\$1,050.00	\$250.00	\$6,250.00
10	2H30TEC	710	L.F.	Silt Fence	\$5.00	\$3,550.00	\$5.00	\$3,550.00	\$9.54	\$6,773.40	\$2.50	\$1,775.00	\$6.00	\$4,260.00	\$5.00	\$3,550.00
11	N2H0003	55	L.F.	Haybale Check Dam With Temporary Stone Outlet	\$8.50	\$467.50	\$12.00	\$660.00	\$118.10	\$6,495.50	\$30.00	\$1,650.00	\$120.00	\$6,600.00	\$100.00	\$5,500.00
12	2K01TPF	45	L.F.	Temporary Orange Plastic Fence	\$5.00	\$225.00	\$5.00	\$225.00	\$9.43	\$424.35	\$10.00	\$450.00	\$7.00	\$315.00	\$4.00	\$180.00
13	3A00001	30	S.Y.	Aggregate Base Course, 7" Thick	\$9.50	\$285.00	\$100.00	\$3,000.00	\$60.84	\$1,825.20	\$50.00	\$1,500.00	\$10.00	\$300.00	\$40.00	\$1,200.00
14	3B01PJA	335	L.F.	Polymerized Joint Adhesive	\$2.00	\$670.00	\$20.00	\$6,700.00	\$9.56	\$3,202.60	\$0.01	\$3.35	\$1.00	\$335.00	\$21.00	\$7,035.00

Base Line Ite	m Detail				Joseph M. San	zari, Inc.	Gardner M. Bis	shop, Inc.	IEW Construct	ion Group Inc.	Agate Construct	ion Co.,	A. P. Construc	tion, Inc.	D'annunzio &	Sons, Inc.
15	3B04APA	1	L.S.	Asphalt Price Adjustment (This is a NO- BID, Lump Sum item for the contract. The Lump Sum price is \$4,000. Enter a Unit Price of \$4,000 as your bid for this item.)	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00
16	3B06SUP	255	Ton	Superpave Hot Mix Asphalt 12.5H 64 Surface Course	\$395.00	\$100,725.00	\$500.00	\$127,500.00	\$313.72	\$79,998.60	\$300.00	\$76,500.00	\$100.00	\$25,500.00	\$560.00	\$142,800.00
17	3B26TAC	100	Gallon	Tack Coat	\$8.50	\$850.00	\$20.00	\$2,000.00	\$5.75	\$575.00	\$25.00	\$2,500.00	\$11.00	\$1,100.00	\$22.00	\$2,200.00
18	3B30CLS	5,000.00	L.F.	Cleaning Inside Shoulders	\$0.50	\$2,500.00	\$1.00	\$5,000.00	\$0.29	\$1,450.00	\$0.20	\$1,000.00	\$3.00	\$15,000.00	\$0.75	\$3,750.00
19	3B30HMA	10	Ton	Temporary Surfacing	\$315.00	\$3,150.00	\$700.00	\$7,000.00	\$230.00	\$2,300.00	\$500.00	\$5,000.00	\$130.00	\$1,300.00	\$120.00	\$1,200.00
20	3B31CLS	5,000.00	L.F.	Cleaning Outside Shoulders	\$0.50	\$2,500.00	\$1.00	\$5,000.00	\$1.15	\$5,750.00	\$0.20	\$1,000.00	\$3.00	\$15,000.00	\$0.75	\$3,750.00
21	3B33SUP	60	Ton	Superpave Hot Mix Asphalt 19H 64 Intermediate Course	\$367.50	\$22,050.00	\$500.00	\$30,000.00	\$210.97	\$12,658.20	\$300.00	\$18,000.00	\$90.00	\$5,400.00	\$560.00	\$33,600.00
22	3B41SCS	580	L.F.	Sealing Cracks in Bituminous Surface	\$2.00	\$1,160.00	\$5.00	\$2,900.00	\$14.55	\$8,439.00	\$5.00	\$2,900.00	\$7.00	\$4,060.00	\$2.00	\$1,160.00
23	3B42ASB	100	S.Y.	Membrane Waterproofin g	\$26.00	\$2,600.00	\$40.00	\$4,000.00	\$19.66	\$1,966.00	\$25.00	\$2,500.00	\$6.00	\$600.00	\$12.00	\$1,200.00
24	3B45HPP	20	Ton	High Performance Cold Patch	\$315.00	\$6,300.00	\$150.00	\$3,000.00	\$177.66	\$3,553.20	\$350.00	\$7,000.00	\$180.00	\$3,600.00	\$200.00	\$4,000.00
25	3B52CSM	60	L.F.	Crack Spanning Membrane	\$15.00	\$900.00	\$30.00	\$1,800.00	\$16.38	\$982.80	\$15.00	\$900.00	\$12.00	\$720.00	\$12.00	\$720.00
26	3C01BRS	690	S.Y.	Berm Surfacing, 3 Inches Thick	\$25.00	\$17,250.00	\$20.00	\$13,800.00	\$29.04	\$20,037.60	\$26.00	\$17,940.00	\$18.00	\$12,420.00	\$40.00	\$27,600.00
27	3E20PMR	2,130.00	S.Y.	Pavement Removal, Variable Depth	\$40.00	\$85,200.00	\$90.00	\$191,700.00	\$30.39	\$64,730.70	\$15.00	\$31,950.00	\$15.00	\$31,950.00	\$45.00	\$95,850.00

Base Line Ite	em Detail				Joseph M. San	zari, Inc.	Gardner M. Bis	shop, Inc.	IEW Construct	ion Group Inc.	Agate Construct	ion Co.,	A. P. Construc	tion, Inc.	D'annunzio & S	Sons, Inc.
28	3L01SSJ	250	L.F.	Sawing and Sealing Joints in Asphalt Concrete Overlay	\$5.00	\$1,250.00	\$5.00	\$1,250.00	\$19.12	\$4,780.00	\$25.00	\$6,250.00	\$5.00	\$1,250.00	\$12.00	\$3,000.00
29	4A01CCS	4	Each	Concrete Core Sampling	\$79.00	\$316.00	\$500.00	\$2,000.00	\$477.48	\$1,909.92	\$250.00	\$1,000.00	\$295.00	\$1,180.00	\$100.00	\$400.00
30	4A01SEJ	235	L.F.	Strip Seal Expansion Joints	\$502.00	\$117,970.00	\$400.00	\$94,000.00	\$382.11	\$89,795.85	\$350.00	\$82,250.00	\$400.00	\$94,000.00	\$350.00	\$82,250.00
31	4A11RFS	298,500.00	Pound	Reinforceme nt Steel, Epoxy Coated	\$1.70	\$507,450.00	\$0.50	\$149,250.00	\$1.43	\$426,855.00	\$1.50	\$447,750.00	\$2.00	\$597,000.00	\$1.75	\$522,375.00
32	4A12RBC	3,175.00	Each	Reinforceme nt Bar Coupler	\$37.00	\$117,475.00	\$5.00	\$15,875.00	\$15.00	\$47,625.00	\$15.00	\$47,625.00	\$10.00	\$31,750.00	\$20.00	\$63,500.00
33	4A15DGR	370	Each	Drill and Grout Reinforceme nt Bars	\$31.50	\$11,655.00	\$100.00	\$37,000.00	\$85.50	\$31,635.00	\$30.00	\$11,100.00	\$40.00	\$14,800.00	\$50.00	\$18,500.00
34	4A55CPS	30	S.F.	Concrete Penetrating SealerTreat ment	\$20.00	\$600.00	\$20.00	\$600.00	\$27.02	\$810.60	\$20.00	\$600.00	\$18.00	\$540.00	\$5.00	\$150.00
35	N4A0001	610	S.Y.	Sawcut Grooved Deck Surface	\$6.00	\$3,660.00	\$7.00	\$4,270.00	\$11.08	\$6,758.80	\$6.00	\$3,660.00	\$10.00	\$6,100.00	\$6.00	\$3,660.00
36	N4A0004	570	L.F.	Jeene Seal Expansion Joints, 1" Movement	\$39.00	\$22,230.00	\$105.00	\$59,850.00	\$81.15	\$46,255.50	\$40.00	\$22,800.00	\$90.00	\$51,300.00	\$170.00	\$96,900.00
37	N4A0010	18	C.Y.	Concrete In Median Curb	\$1,050.00	\$18,900.00	\$2,500.00	\$45,000.00	\$848.54	\$15,273.72	\$300.00	\$5,400.00	\$860.00	\$15,480.00	\$400.00	\$7,200.00
38	4C01SSC	5,930.00	Each	Shear Connectors	\$7.50	\$44,475.00	\$6.00	\$35,580.00	\$4.95	\$29,353.50	\$5.00	\$29,650.00	\$6.00	\$35,580.00	\$4.30	\$25,499.00
39	4H137LEB	30	Each	Laminated Elastomeric Bearing, 10" X 9", Guided	\$10,246.00	\$307,380.00	\$7,500.00	\$225,000.00	\$10,553.41	\$316,602.30	\$10,000.00	\$300,000.00	\$12,500.00	\$375,000.00	\$12,000.00	\$360,000.00
40	4H138LEB	4	Each	Laminated Elastomeric Bearing, 10" X 9", Fixed	\$10,246.00	\$40,984.00	\$7,500.00	\$30,000.00	\$10,553.41	\$42,213.64	\$10,000.00	\$40,000.00	\$12,500.00	\$50,000.00	\$12,000.00	\$48,000.00
41	4H139LEB	7	Each	Laminated Elastomeric Bearing, 15" X 12", Fixed	\$10,246.00	\$71,722.00	\$7,500.00	\$52,500.00	\$10,553.41	\$73,873.87	\$10,000.00	\$70,000.00	\$12,500.00	\$87,500.00	\$12,000.00	\$84,000.00
42	4H140LEB	5	Each	Laminated Elastomeric Bearing, 15" X 12", Guided	\$10,246.00	\$51,230.00	\$7,500.00	\$37,500.00	\$10,553.41	\$52,767.05	\$10,000.00	\$50,000.00	\$12,500.00	\$62,500.00	\$12,000.00	\$60,000.00

Base Line Ite	em Detail				Joseph M. San	zari, Inc.	Gardner M. Bis	shop, Inc.	IEW Construct	ion Group Inc.	Agate Construct	ion Co.,	A. P. Construc	ction, Inc.	D'annunzio &	Sons, Inc.
43	4H141LEB	15	Each	Laminated Elastomeric Bearing, 16" X 12", Guided	\$10,246.00	\$153,690.00	\$7,500.00	\$112,500.00	\$10,553.41	\$158,301.15	\$10,000.00	\$150,000.00	\$12,500.00	\$187,500.00	\$12,000.00	\$180,000.00
44	4H142LEB	11	Each	Laminated Elastomeric Bearing, 10" X 12", Guided	\$10,246.00	\$112,706.00	\$7,500.00	\$82,500.00	\$10,553.41	\$116,087.51	\$10,000.00	\$110,000.00	\$12,500.00	\$137,500.00	\$12,000.00	\$132,000.00
46	4K09PES	1,470.00	S.F.	Painting Existing Steelwork	\$26.00	\$38,220.00	\$75.00	\$110,250.00	\$44.28	\$65,091.60	\$50.00	\$73,500.00	\$35.00	\$51,450.00	\$50.00	\$73,500.00
47	4L00006	85	L.F.	8" Drainage Pipe, Galvanized Steel	\$840.00	\$71,400.00	\$400.00	\$34,000.00	\$225.53	\$19,170.05	\$350.00	\$29,750.00	\$46.00	\$3,910.00	\$550.00	\$46,750.00
48	4L05CBD	870	L.F.	Clean Bridge Drainage System	\$9.00	\$7,830.00	\$10.00	\$8,700.00	\$9.78	\$8,508.60	\$10.00	\$8,700.00	\$10.00	\$8,700.00	\$15.00	\$13,050.00
49	4L08WIG	15	Each	Weld Existing Inlet Grate	\$464.00	\$6,960.00	\$600.00	\$9,000.00	\$865.31	\$12,979.65	\$1,000.00	\$15,000.00	\$590.00	\$8,850.00	\$400.00	\$6,000.00
50	4M07USP	420	C.Y.	Underbridge Slope Fill Material	\$19.00	\$7,980.00	\$120.00	\$50,400.00	\$116.09	\$48,757.80	\$60.00	\$25,200.00	\$67.00	\$28,140.00	\$200.00	\$84,000.00
51	4Q00001	560	S.Y.	Catches	\$132.00	\$73,920.00	\$200.00	\$112,000.00	\$136.36	\$76,361.60	\$60.00	\$33,600.00	\$110.00	\$61,600.00	\$150.00	\$84,000.00
52	4Q00003	105	S.F.	Latex Modified Concrete Overlay Repair	\$112.00	\$11,760.00	\$110.00	\$11,550.00	\$137.30	\$14,416.50	\$80.00	\$8,400.00	\$295.00	\$30,975.00	\$100.00	\$10,500.00
53	4Q00007	330	L.F.	Furnishing, Installation and Removal of Temporary Catch, Location No. 1	\$556.00	\$183,480.00	\$400.00	\$132,000.00	\$316.10	\$104,313.00	\$150.00	\$49,500.00	\$40.00	\$13,200.00	\$400.00	\$132,000.00
54	4Q03BDR	770	S.Y.	Concrete Deck Replacement with Catches	\$1,179.00	\$907,830.00	\$1,500.00	\$1,155,000.00	\$1,137.03	\$875,513.10	\$400.00	\$308,000.00	\$1,015.00	\$781,550.00	\$800.00	\$616,000.00
55	4Q08BDR	100	S.Y.	Removal of Existing Surfacing	\$37.00	\$3,700.00	\$150.00	\$15,000.00	\$43.15	\$4,315.00	\$50.00	\$5,000.00	\$7.00	\$700.00	\$55.00	\$5,500.00
56	4Q15BDR	660	S.Y.	Removal of Existing Concrete Deck	\$220.00	\$145,200.00	\$275.00	\$181,500.00	\$243.04	\$160,406.40	\$250.00	\$165,000.00	\$175.00	\$115,500.00	\$250.00	\$165,000.00
57	4Q18SJS	185	L.F.	Silicone Joint Seal	\$4.70	\$869.50	\$50.00	\$9,250.00	\$75.80	\$14,023.00	\$10.00	\$1,850.00	\$95.00	\$17,575.00	\$70.00	\$12,950.00
58	4Q20H02	165	L.F.	Headblock Repair, Type	\$177.00	\$29,205.00	\$500.00	\$82,500.00	\$145.26	\$23,967.90	\$300.00	\$49,500.00	\$355.00	\$58,575.00	\$220.00	\$36,300.00

Base Line Ite	em Detail				Joseph M. San	zari, Inc.	Gardner M. Bis	shop, Inc.	IEW Construct	ion Group Inc.	Agate Construct	ion Co.,	A. P. Construc	tion, Inc.	D'annunzio & S	Sons, Inc.
59	4Q24BDR	3,800.00	L.F.	Reinforceme nt Steel, Field Anti - Corrosion Coating	\$5.25	\$19,950.00	\$4.00	\$15,200.00	\$2.25	\$8,550.00	\$5.00	\$19,000.00	\$2.00	\$7,600.00	\$10.00	\$38,000.00
60	4Q30S01	190	S.F.	Spall Repair, Type 1	\$37.00	\$7,030.00	\$100.00	\$19,000.00	\$74.81	\$14,213.90	\$75.00	\$14,250.00	\$220.00	\$41,800.00	\$50.00	\$9,500.00
61	4Q30S04	275	S.F.	Spall Repair, Type 4	\$129.00	\$35,475.00	\$600.00	\$165,000.00	\$315.84	\$86,856.00	\$325.00	\$89,375.00	\$120.00	\$33,000.00	\$225.00	\$61,875.00
62	4Q30S05	40	S.F.	Spall Repair, Type 5	\$129.00	\$5,160.00	\$500.00	\$20,000.00	\$82.95	\$3,318.00	\$90.00	\$3,600.00	\$175.00	\$7,000.00	\$60.00	\$2,400.00
63	4Q30S06	100	S.F.	Spall Repair, Type 6	\$158.00	\$15,800.00	\$200.00	\$20,000.00	\$203.29	\$20,329.00	\$150.00	\$15,000.00	\$230.00	\$23,000.00	\$100.00	\$10,000.00
64	4Q30SUD	900	S.F.	Repair Underdeck Spalls (Clean and Coat)	\$105.00	\$94,500.00	\$75.00	\$67,500.00	\$90.95	\$81,855.00	\$50.00	\$45,000.00	\$350.00	\$315,000.00	\$225.00	\$202,500.00
65	4Q50JFJ	155	L.F.	Joint Reconstructi on, Type FJ	\$393.75	\$61,031.25	\$80.00	\$12,400.00	\$66.16	\$10,254.80	\$55.00	\$8,525.00	\$300.00	\$46,500.00	\$50.00	\$7,750.00
66	4Q70FAE	1	C.P.	Force Account for Emergency and Routine Bridge Repairs (This is a NO-BID, Lump Sum item for this contract. The Lump Sum price is \$250,000. Enter a Unit Price of \$250,000 as your bid for this item.)	\$250,000.00	\$250,000.00	\$250,000.00	\$250,000.00	\$250,000.00	\$250,000.00	\$250,000.00	\$250,000.00	\$250,000.00	\$250,000.00	\$250,000.00	\$250,000.00
67	N4Q0001	1	L.S.	Concrete Repair Material	\$14,700.00	\$14,700.00	\$15,000.00	\$15,000.00	\$1,000.00	\$1,000.00	\$40,000.00	\$40,000.00	\$11,800.00	\$11,800.00	\$15,000.00	\$15,000.00
68	N4Q0002	100	S.F.	Furnishing, Installation and Removal of Temporary Shielding	\$16.80	\$1,680.00	\$25.00	\$2,500.00	\$13.90	\$1,390.00	\$50.00	\$5,000.00	\$120.00	\$12,000.00	\$18.00	\$1,800.00

Base Line Ite	em Detail				Joseph M. San	zari, Inc.	Gardner M. Bis	shop, Inc.	IEW Construct	ion Group Inc.	Agate Construct	ion Co.,	A. P. Construc	tion, Inc.	D'annunzio & S	Sons, Inc.
69	4R01BSR	80	S.F.	Sidewalk, Parapet and Curb Surface Repairs	\$75.60	\$6,048.00	\$300.00	\$24,000.00	\$207.83	\$16,626.40	\$150.00	\$12,000.00	\$530.00	\$42,400.00	\$140.00	\$11,200.00
70	4R01RSC	30	S.F.	Vertical Spall Repair	\$185.00	\$5,550.00	\$300.00	\$9,000.00	\$269.92	\$8,097.60	\$150.00	\$4,500.00	\$165.00	\$4,950.00	\$280.00	\$8,400.00
71	4R01SC1	300	S.F.	Repair Spalled Concrete, Type 1 - Abutment	\$147.00	\$44,100.00	\$300.00	\$90,000.00	\$220.19	\$66,057.00	\$250.00	\$75,000.00	\$165.00	\$49,500.00	\$280.00	\$84,000.00
72	4R01SC2	200	S.F.	Repair Spalled Concrete, Type 2 - Abutment	\$265.00	\$53,000.00	\$350.00	\$70,000.00	\$291.40	\$58,280.00	\$350.00	\$70,000.00	\$350.00	\$70,000.00	\$280.00	\$56,000.00
73	4R02BSR	2	Each	Replace Structural Steel Diaphragm	\$3,570.00	\$7,140.00	\$5,000.00	\$10,000.00	\$8,941.53	\$17,883.06	\$3,500.00	\$7,000.00	\$7,000.00	\$14,000.00	\$6,200.00	\$12,400.00
74	4R02SC1	2,590.00	S.F.	Repair Spalled Concrete, Type 1 - Pier	\$173.00	\$448,070.00	\$300.00	\$777,000.00	\$229.90	\$595,441.00	\$250.00	\$647,500.00	\$165.00	\$427,350.00	\$230.00	\$595,700.00
75	4R02SC2	840	S.F.	Repair Spalled Concrete, Type 2 - Pier	\$269.00	\$225,960.00	\$350.00	\$294,000.00	\$304.37	\$255,670.80	\$375.00	\$315,000.00	\$330.00	\$277,200.00	\$230.00	\$193,200.00
76	4R11RSS	65	Each	Repair of Structural Steel, Type A	\$1,260.00	\$81,900.00	\$4,000.00	\$260,000.00	\$2,874.13	\$186,818.45	\$2,000.00	\$130,000.00	\$2,100.00	\$136,500.00	\$2,000.00	\$130,000.00
77	4R12RSS	13	Each	Repair of Structural Steel, Type B	\$1,270.00	\$16,510.00	\$4,000.00	\$52,000.00	\$2,874.13	\$37,363.69	\$2,000.00	\$26,000.00	\$2,100.00	\$27,300.00	\$1,800.00	\$23,400.00
78	4R13RSS	2	Each	Repair of Structural Steel, Type C	\$1,280.00	\$2,560.00	\$4,500.00	\$9,000.00	\$2,874.13	\$5,748.26	\$2,000.00	\$4,000.00	\$2,000.00	\$4,000.00	\$1,800.00	\$3,600.00
79	4R14BSR	2,675.00	S.F.	Substructure Waterproofin g	\$19.70	\$52,697.50	\$12.00	\$32,100.00	\$9.34	\$24,984.50	\$6.00	\$16,050.00	\$12.00	\$32,100.00	\$13.00	\$34,775.00
80	4R15RSS	5	Each	Repair Structural Steel, Type E	\$1,275.00	\$6,375.00	\$6,000.00	\$30,000.00	\$2,603.88	\$13,019.40	\$1,200.00	\$6,000.00	\$1,300.00	\$6,500.00	\$1,100.00	\$5,500.00
81	4R16RSS	8	Each	Repair Structural Steel, Type F	\$3,000.00	\$24,000.00	\$3,000.00	\$24,000.00	\$2,741.88	\$21,935.04	\$1,400.00	\$11,200.00	\$1,300.00	\$10,400.00	\$1,600.00	\$12,800.00
82	4R17RSS	33	Each	Repair Structural Steel, Type G	\$10,500.00	\$346,500.00	\$7,000.00	\$231,000.00	\$7,077.94	\$233,572.02	\$3,300.00	\$108,900.00	\$2,800.00	\$92,400.00	\$2,400.00	\$79,200.00

Base Line Ite	em Detail				Joseph M. San	zari, Inc.	Gardner M. Bis	hop, Inc.	IEW Construct	ion Group Inc.	Agate Construct	tion Co.,	A. P. Construct	tion, Inc.	D'annunzio & S	Sons, Inc.
83	4R18BSR	50	Each	Replace Anchor Bolt	\$253.00	\$12,650.00	\$350.00	\$17,500.00	\$580.98	\$29,049.00	\$250.00	\$12,500.00	\$235.00	\$11,750.00	\$1,400.00	\$70,00
84	4R18RSS	16	Each	Repair Structural Steel, Type H	\$1,440.00	\$23,040.00	\$4,500.00	\$72,000.00	\$972.97	\$15,567.52	\$1,100.00	\$17,600.00	\$830.00	\$13,280.00	\$700.00	\$11,20
85	4R21RSS	8	Each	Repair Structural Steel, Type L	\$3,800.00	\$30,400.00	\$4,500.00	\$36,000.00	\$5,817.25	\$46,538.00	\$2,300.00	\$18,400.00	\$3,600.00	\$28,800.00	\$3,100.00	\$24,8
86	4R22RSS	2	Each	Repair Structural Steel, Type M	\$1,200.00	\$2,400.00	\$5,000.00	\$10,000.00	\$2,741.88	\$5,483.76	\$3,700.00	\$7,400.00	\$1,500.00	\$3,000.00	\$1,300.00	\$2,6
87	4R23RSS	3	Each	Repair Structural Steel, Type N	\$2,650.00	\$7,950.00	\$5,500.00	\$16,500.00	\$5,680.41	\$17,041.23	\$6,200.00	\$18,600.00	\$5,000.00	\$15,000.00	\$4,400.00	\$13,ź
88	4R25BSR	3,670.00	S.F.	Substructure Membrane Waterproofin g	\$11.00	\$40,370.00	\$18.00	\$66,060.00	\$12.08	\$44,333.60	\$12.00	\$44,040.00	\$13.00	\$47,710.00	\$13.00	\$47,
89	4R26RBG	60	Each	Reconstruct Bearing Area	\$2,390.00	\$143,400.00	\$2,000.00	\$120,000.00	\$3,895.07	\$233,704.20	\$1,600.00	\$96,000.00	\$5,800.00	\$348,000.00	\$3,500.00	\$210,
90	4R30RBG	45	Each	Reset Bearing	\$2,990.00	\$134,550.00	\$5,000.00	\$225,000.00	\$8,072.78	\$363,275.10	\$6,000.00	\$270,000.00	\$10,000.00	\$450,000.00	\$9,400.00	\$423,0
91	4R41TSS	50	Each	Temporary Support	\$9,135.00	\$456,750.00	\$5,000.00	\$250,000.00	\$5,944.90	\$297,245.00	\$5,000.00	\$250,000.00	\$10,000.00	\$500,000.00	\$10,200.00	\$510,0
92	4ZA0001	20	S.F.	Bridge Mounted Noise Barrier Panel Repair	\$273.00	\$5,460.00	\$200.00	\$4,000.00	\$496.84	\$9,936.80	\$200.00	\$4,000.00	\$120.00	\$2,400.00	\$200.00	\$4,
93	4ZA00NBP	320	S.F.	Ground Mounted Noise Barrier Panel	\$158.00	\$50,560.00	\$200.00	\$64,000.00	\$206.81	\$66,179.20	\$160.00	\$51,200.00	\$175.00	\$56,000.00	\$170.00	\$54,
94	4ZH03SPP	1	L.S.	Picking Up and Returning Authority's Steel Protection Plates	\$787.00	\$787.00	\$5,000.00	\$5,000.00	\$1.00	\$1.00	\$8,000.00	\$8,000.00	\$4,000.00	\$4,000.00	\$15,000.00	\$15,i
95	4ZM04HPC	50	C.Y.	Concrete in Parapet, HPC	\$1,230.00	\$61,500.00	\$1,200.00	\$60,000.00	\$1,675.79	\$83,789.50	\$1,000.00	\$50,000.00	\$1,700.00	\$85,000.00	\$1,800.00	\$90,
96	4ZM06HPC	150	C.Y.	Concrete in Deck, HPC	\$915.00	\$137,250.00	\$2,500.00	\$375,000.00	\$1,101.33	\$165,199.50	\$1,500.00	\$225,000.00	\$2,500.00	\$375,000.00	\$1,100.00	\$165,
97	5B00HSC	85	L.F.	18 Inch Half Section Corrugated Metal Pipe	\$102.00	\$8,670.00	\$50.00	\$4,250.00	\$155.61	\$13,226.85	\$80.00	\$6,800.00	\$26.00	\$2,210.00	\$280.00	\$23,

Base Line It	em Detail				Joseph M. San	zari, Inc.	Gardner M. Bi	shop, Inc.	IEW Construct	ion Group Inc.	Agate Construct	ion Co.,	A. P. Construc	tion, Inc.	D'annunzio & S	Sons, Inc.
98	5B18PEP	265	L.F.	18" High Density PolyEthylene Pipe	\$53.00	\$14,045.00	\$50.00	\$13,250.00	\$106.23	\$28,150.95	\$35.00	\$9,275.00	\$55.00	\$14,575.00	\$210.00	\$55,6
99	5C00012	5	Each	Reconstruct Inlet, Using Existing Frame, 0' tp 0.5' Depth	\$960.00	\$4,800.00	\$1,000.00	\$5,000.00	\$2,027.13	\$10,135.65	\$1,000.00	\$5,000.00	\$1,150.00	\$5,750.00	\$2,000.00	\$10,0
100	5C40RPI	10	S.F.	Repair Inlets	\$100.00	\$1,000.00	\$100.00	\$1,000.00	\$661.01	\$6,610.10	\$150.00	\$1,500.00	\$15.00	\$150.00	\$80.00	\$8
101	5C60RIG	5	Each	Replace Existing Inlet Grate	\$1,560.00	\$7,800.00	\$500.00	\$2,500.00	\$3,280.63	\$16,403.15	\$500.00	\$2,500.00	\$1,000.00	\$5,000.00	\$1,700.00	\$8,5
102	5F01VCA	210	L.F.	Concrete Curb, Type A	\$23.00	\$4,830.00	\$80.00	\$16,800.00	\$39.64	\$8,324.40	\$35.00	\$7,350.00	\$70.00	\$14,700.00	\$50.00	\$10,5
103	5H02CBC	360	L.F.	15"x41" Concrete Barrier Curb	\$168.00	\$60,480.00	\$200.00	\$72,000.00	\$138.10	\$49,716.00	\$125.00	\$45,000.00	\$205.00	\$73,800.00	\$250.00	\$90,I
104	5J01PCA	6	Each	Parapet Connection, Type A	\$2,100.00	\$12,600.00	\$2,000.00	\$12,000.00	\$2,179.25	\$13,075.50	\$2,000.00	\$12,000.00	\$2,300.00	\$13,800.00	\$2,100.00	\$12,
105	5J01RBG	810	L.F.	Removal of Beam Guide rail	\$1.00	\$810.00	\$2.00	\$1,620.00	\$1.15	\$931.50	\$1.00	\$810.00	\$1.00	\$810.00	\$5.00	\$4,
106	5J51TTS	6	Each	Tangent Guide Rail Terminal	\$2,625.00	\$15,750.00	\$2,500.00	\$15,000.00	\$2,524.25	\$15,145.50	\$2,200.00	\$13,200.00	\$2,900.00	\$17,400.00	\$2,600.00	\$15,0
107	5J52BGR	1,060.00	L.F.	Beam Guide Rail	\$21.00	\$22,260.00	\$20.00	\$21,200.00	\$19.55	\$20,723.00	\$17.00	\$18,020.00	\$23.00	\$24,380.00	\$25.00	\$26,
108	5J53RRS	180	L.F.	Rub Rail	\$9.50	\$1,710.00	\$10.00	\$1,800.00	\$11.50	\$2,070.00	\$10.00	\$1,800.00	\$10.00	\$1,800.00	\$10.00	\$1,8
109	5K01BRF	345	L.F.	Bridge Fencing, 60" High	\$88.00	\$30,360.00	\$90.00	\$31,050.00	\$102.35	\$35,310.75	\$90.00	\$31,050.00	\$100.00	\$34,500.00	\$85.00	\$29,
110	5K01REP	160	L.F.	Repair Chain Link Fence	\$38.00	\$6,080.00	\$40.00	\$6,400.00	\$48.30	\$7,728.00	\$40.00	\$6,400.00	\$40.00	\$6,400.00	\$40.00	\$6,
111	5P10TMP	500	L.F.	Temporary Pavement Striping	\$2.00	\$1,000.00	\$2.00	\$1,000.00	\$2.30	\$1,150.00	\$2.25	\$1,125.00	\$1.00	\$500.00	\$2.20	\$1,
112	5P11REM	500	L.F.	Striping and Marking Removal, Mechanical	\$2.00	\$1,000.00	\$2.00	\$1,000.00	\$2.30	\$1,150.00	\$1.25	\$625.00	\$1.00	\$500.00	\$2.20	\$1,
113	5P12REM	210	L.F.	Striping and Marking Removal, Hydromilling	\$5.25	\$1,102.50	\$5.00	\$1,050.00	\$5.75	\$1,207.50	\$7.00	\$1,470.00	\$1.00	\$210.00	\$5.50	\$1,
114	5P13TMP	8,000.00	L.F.	Removable Black Line Mask, 8" Wide	\$3.60	\$28,800.00	\$3.00	\$24,000.00	\$4.03	\$32,240.00	\$2.75	\$22,000.00) \$1.00	\$8,000.00	\$3.60	\$28

Base Line Ite	m Detail				Joseph M. San	zari, Inc.	Gardner M. Bis	shop, Inc.	IEW Construct	ion Group Inc.	Agate Construct	ion Co.,	A. P. Construc	tion, Inc.	D'annunzio & S	Sons, Inc.
115	5P14TMP	7,250.00	L.F.	Removable Wet Weather Pavement Marking Tape	\$3.00	\$21,750.00	\$2.50	\$18,125.00	\$3.39	\$24,577.50	\$2.30	\$16,675.00	\$1.00	\$7,250.00	\$3.00	\$21,750.00
116	5P20LLS	2,800.00	L.F.	Traffic Stripes, Long - Life, Epoxy Resin	\$1.50	\$4,200.00	\$1.30	\$3,640.00	\$1.44	\$4,032.00	\$3.00	\$8,400.00	\$1.00	\$2,800.00	\$1.50	\$4,200.00
117	5P21LLS	625	L.F.	Traffic Stripes, Long - Life, thermoplastic	ֆ6.00	\$3,750.00	\$6.00	\$3,750.00	\$6.33	\$3,956.25	\$5.25	\$3,281.25	\$1.00	\$625.00	\$6.00	\$3,750.00
118	5Q01FOB	1	L.S.	Furnish Field Office, Type B	\$13,650.00	\$13,650.00	\$20,000.00	\$20,000.00	\$29,839.97	\$29,839.97	\$40,000.00	\$40,000.00	\$23,000.00	\$23,000.00	\$50,000.00	\$50,000.00
119	5Q02MFO	12	Month	Maintain Field Office	\$2,520.00	\$30,240.00	\$5,000.00	\$60,000.00	\$6,210.00	\$74,520.00	\$5,000.00	\$60,000.00	\$2,280.00	\$27,360.00	\$4,000.00	\$48,000.00
120	5Q20FOE	1	L.S.	Furnish Field Office Equipment	\$13,650.00	\$13,650.00	\$10,000.00	\$10,000.00	\$29,839.97	\$29,839.97	\$40,000.00	\$40,000.00	\$3,500.00	\$3,500.00	\$40,000.00	\$40,000.00
121	5ZA01HGR	45	Each	Utility Support Hangers	\$1,522.00	\$68,490.00	\$1,500.00	\$67,500.00	\$2,077.55	\$93,489.75	\$3,000.00	\$135,000.00	\$2,700.00	\$121,500.00	\$1,100.00	\$49,500.00
122	5ZL0181	1	Each	Dry Standpipe	\$4,600.00	\$4,600.00	\$10,000.00	\$10,000.00	\$6,469.26	\$6,469.26	\$5,000.00	\$5,000.00	\$9,700.00	\$9,700.00	\$10,000.00	\$10,000.00
123	5ZO0060	610	S.Y.	Micro-Milling Deck Surface	\$10.30	\$6,283.00	\$20.00	\$12,200.00	\$11.50	\$7,015.00	\$10.00	\$6,100.00	\$13.00	\$7,930.00	\$10.00	\$6,100.00
124	5ZO0131	1	L.S.	Ride Quality Testing for Micro-Milled Deck Surfaces	\$1,312.00	\$1,312.00	\$10,000.00	\$10,000.00	\$11,500.00	\$11,500.00	\$5,000.00	\$5,000.00	\$6,000.00	\$6,000.00	\$4,000.00	\$4,000.00
125	5ZZ65GR	1	Each	Controlled Release Terminal	\$1,150.00	\$1,150.00	\$1,500.00	\$1,500.00	\$1,259.25	\$1,259.25	\$1,100.00	\$1,100.00	\$3,000.00	\$3,000.00	\$1,100.00	\$1,100.00
126	5Z02PGT	200	S.Y.	Pressure Grout Approach Slab	\$178.00	\$35,600.00	\$300.00	\$60,000.00	\$188.37	\$37,674.00	\$50.00	\$10,000.00	\$190.00	\$38,000.00	\$75.00	\$15,000.00
127	7C01TOP	300	S.Y.	Topsoil	\$3.20	\$960.00	\$10.00	\$3,000.00	\$9.15	\$2,745.00	\$10.00	\$3,000.00	\$2.00	\$600.00	\$25.00	\$7,500.00
128	7D08SED	300	S.Y.	Seeding, Type L	\$1.00	\$300.00	\$5.00	\$1,500.00	\$1.15	\$345.00	\$1.00	\$300.00	\$1.00	\$300.00	\$3.00	\$900.00
129	7F01SSM	300	S.Y.	Soil Stablization Matting	\$3.20	\$960.00	\$10.00	\$3,000.00	\$4.60	\$1,380.00	\$5.00	\$1,500.00	\$5.00	\$1,500.00	\$5.00	\$1,500.00
130	8A01MPT	1	L.S.	Furnishing Traffic Control Devices	\$570,000.00	\$570,000.00	\$10,000.00	\$10,000.00	\$350,000.00	\$350,000.00	\$1,730,000.00	\$1,730,000.00	\$14,000.00	\$14,000.00	\$40,000.00	\$40,000.00
131	8A06MPT	5	Barrel	Repair Temporary Impact Attenuators	\$236.00	\$1,180.00	\$500.00	\$2,500.00	\$1.00	\$5.00	\$400.00	\$2,000.00	\$3,000.00	\$15,000.00	\$500.00	\$2,500.00

Base Line Ite	em Detail				Joseph M. San	zari, Inc.	Gardner M. Bis	shop, Inc.	IEW Construct	ion Group Inc.	Agate Construct	tion Co.,	A. P. Construc	tion, Inc.	D'annunzio &	Sons, Inc.
132	8A07MPT	1	Each	Repair Truck Mounted Impact Attenuators	\$1.00	\$1.00	\$1,000.00	\$1,000.00	\$1.00	\$1.00	\$6,000.00	\$6,000.00	\$4,800.00	\$4,800.00	\$5,000.00	\$5,000.00
133	8A20MPT	1	L.S.	POLICE TRAFFIC DIRECTORS (This is a NO- BID, Lump Sum item for this contract. The Lump Sum price is \$40,000. Enter a Unit Price of \$40,000 as your bid for this item.)		\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00
134	8A30MPT	4	Each	Furnishing Portable Variable Message Sign	\$5,250.00	\$21,000.00	\$1,000.00	\$4,000.00	\$1.00	\$4.00	\$12,000.00	\$48,000.00	\$15,000.00	\$60,000.00	\$2,000.00	\$8,000.00
135	N8A0001	1,500.00	L.F.	Furnishing Precast Concrete Construction Barrier	\$9.00	\$13,500.00	\$10.00	\$15,000.00	\$0.01	\$15.00	\$50.00	\$75,000.00	\$45.00	\$67,500.00	\$15.00	\$22,500.00
136	N8A0002	1,930.00	L.F.	Placing and Removing Precast Concrete Construction Barrier	\$24.00	\$46,320.00	\$25.00	\$48,250.00	\$47.13	\$90,960.90	\$10.00	\$19,300.00	\$30.00	\$57,900.00	\$20.00	\$38,600.00
137	N8A0003	100	L.F.	Resetting Precast Concrete Construction Barrier	\$24.00	\$2,400.00	\$25.00	\$2,500.00	\$39.47	\$3,947.00	\$10.00	\$1,000.00	\$60.00	\$6,000.00	\$4.00	\$400.00
138	8B09MPT	1	L.S.	Picking Up and Returning Authority's Traffic Protection Devices	\$500.00	\$500.00	\$1,000.00	\$1,000.00	\$1.00	\$1.00	\$10,000.00	\$10,000.00	\$3,000.00	\$3,000.00	\$10,000.00	\$10,000.00
139	8B15MPT	1,000.00	M.H.	Traffic Protection Patrol	\$79.00	\$79,000.00	\$25.00	\$25,000.00	\$20.00	\$20,000.00	\$10.00	\$10,000.00	\$100.00	\$100,000.00	\$90.00	\$90,000.00
140	8B17MPT	8	Each	Furnishing Truck with Mounted Attenuator	\$4,725.00	\$37,800.00	\$1,000.00	\$8,000.00	\$1.00	\$8.00	\$10,000.00	\$80,000.00	\$6,000.00	\$48,000.00	\$2,000.00	\$16,000.00
141	8B18MPT	8	Each	Furnishing Temporary Impact Attenuator	\$4,725.00	\$37,800.00	\$100.00	\$800.00	\$1.00	\$8.00	\$6,000.00	\$48,000.00	\$13,000.00	\$104,000.00	\$2,500.00	\$20,000.00

Base Line Ite	em Detail				Joseph M. Sar	nzari, Inc.	Gardner M. Bi	shop, Inc.	IEW Construct	ion Group Inc.	Agate Construct	ion Co.,	A. P. Construc	ction, Inc.	D'annunzio & S	Sons, Inc.
142	8B19MPT	100	M.H.	Furnishing Truck with Mounted Attenuator for Engineer's Use	\$79.00	\$7,900.00	\$40.00	\$4,000.00	\$1.00	\$100.00	\$90.00	\$9,000.00	\$145.00	\$14,500.00	\$85.00	\$8,500.00
143	8B20MPT	8	Each	Placing and Removing Temporary Impact Attenuator	\$3,500.00	\$28,000.00	\$100.00	\$800.00	\$1,333.46	\$10,667.68	\$2,500.00	\$20,000.00	\$2,300.00	\$18,400.00	\$2,000.00	\$16,000.00
144	8B26MPT	175	Each	Installation, Maintenance, and Removal of Lane Closing		\$17,500.00	\$1,000.00	\$175,000.00	\$400.00	\$70,000.00	\$1,500.00	\$262,500.00	\$2,300.00	\$402,500.00	\$2,300.00	\$402,500.00
145	8B34MPT	430	L.F.	Modular Glare Screen System	\$16.00	\$6,880.00	\$25.00	\$10,750.00	\$17.25	\$7,417.50	\$20.00	\$8,600.00	\$13.00	\$5,590.00	\$20.00	\$8,600.00
146	8C100SCL	1	L.S.	Maintenance and Protection of Traffic on State, County, and Local Roadways		\$11,655.00	\$40,000.00	\$40,000.00	\$41,274.89	\$41,274.89	\$15,000.00	\$15,000.00	\$70,000.00	\$70,000.00	\$15,000.00	\$15,000.00
147	8C21MLR	1	L.S.	Maintenance and Protection of Traffic on Location No. 1	\$7,780.00	\$7,780.00	\$50,000.00	\$50,000.00	\$7,925.14	\$7,925.14	\$30,000.00	\$30,000.00	\$26,000.00	\$26,000.00	\$30,000.00	\$30,000.00
148	8C22MLR	1	L.S.	Maintenance and Protection of Traffic on Location No. 2		\$5,180.00	\$50,000.00	\$50,000.00	\$27,272.39	\$27,272.39	\$40,000.00	\$40,000.00	\$10,000.00	\$10,000.00	\$30,000.00	\$30,000.00
149	8C23MLR	1	L.S.	Maintenance and Protection of Traffic on Location No. 3		\$16,400.00	\$30,000.00	\$30,000.00	\$12,706.19	\$12,706.19	\$10,000.00	\$10,000.00	\$16,000.00	\$16,000.00	\$15,000.00	\$15,000.00
150	8C24MLR	1	L.S.	Maintenance and Protection of Traffic on Location No. 4		\$41,950.00	\$70,000.00	\$70,000.00	\$72,034.14	\$72,034.14	\$20,000.00	\$20,000.00	\$21,000.00	\$21,000.00	\$80,000.00	\$80,000.00
151	8C25MLR	1	L.S.	Maintenance and Protection of Traffic on Location No. 5	\$27,468.00	\$27,468.00	\$70,000.00	\$70,000.00	\$48,373.84	\$48,373.84	\$25,000.00	\$25,000.00	\$15,000.00	\$15,000.00	\$50,000.00	\$50,000.00

Base Line Ite	m Detail				Joseph M. San	zari, Inc.	Gardner M. Bis	shop, Inc.	IEW Construct	ion Group Inc.	Agate Construct	ion Co.,	A. P. Construc	tion, Inc.	D'annunzio &	Sons, Inc.
152	8C26MLR	1	L.S.	Maintenance and Protection of Traffic on Location No. 6	\$5,187.00	\$5,187.00	\$5,000.00	\$5,000.00	\$1.00	\$1.00	\$5,000.00	\$5,000.00	\$21,000.00	\$21,000.00	\$10,000.00	\$10,000.00
153	8C27MLR	1	L.S.	Maintenance and Protection of Traffic on Location No. 7	\$25,300.00	\$25,300.00	\$30,000.00	\$30,000.00	\$29,812.00	\$29,812.00	\$15,000.00	\$15,000.00	\$35,000.00	\$35,000.00	\$65,000.00	\$65,000.00
154	8C28MLR	1	L.S.	Maintenance and Protection of Traffic on Location No. 8	\$5,187.00	\$5,187.00	\$5,000.00	\$5,000.00	\$1.00	\$1.00	\$5,000.00	\$5,000.00	\$20,000.00	\$20,000.00	\$10,000.00	\$10,000.00
155	8C29MLR	1	L.S.	Maintenance and Protection of Traffic on Location No. 9	\$17,640.00	\$17,640.00	\$20,000.00	\$20,000.00	\$65,581.05	\$65,581.05	\$50,000.00	\$50,000.00	\$23,000.00	\$23,000.00	\$200,000.00	\$200,000.00
156	8C30MLR	1	L.S.	Maintenance and Protection of Traffic on Location No. 10	\$20,475.00	\$20,475.00	\$10,000.00	\$10,000.00	\$13,049.38	\$13,049.38	\$5,000.00	\$5,000.00	\$15,000.00	\$15,000.00	\$30,000.00	\$30,000.00
157	8D50MRR	1	L.S.	Railroad Reimbursem ent Costs (This is a NO- BID, Lump Sum item for this contract. The Lump Sum price is \$50,000. Enter a Unit Price of \$50,000 as your bid for this item.)	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
				Base Total		\$8,418,639.25		\$8,576,865.00		\$8,618,340.36		\$9,105,975.60		\$9,411,995.00		\$9,487,000.00